
SAP ABAP table FRE_WALE_STY {Material to store assignment to promotion}

FRE_WALE_STY

MANDT [CLNT (3)]

AKTNR [CHAR (10)]

ARTNR [CHAR (18)]

MEBME [UNIT (3)]

KUNNR [CHAR (10)]

CLINT [NUMC (10)]

AKTHE [CHAR (4)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

EKORG [CHAR (4)]

EKGRP [CHAR (3)]

LIFNR [CHAR (10)]

VZWRK [CHAR (4)]

VZEKO [CHAR (4)]

VZVKO [CHAR (4)]

VZVTW [CHAR (2)]

VZSPA [CHAR (2)]

EXTLI [CHAR (10)]

BEKTB [CHAR (4)]

BEKTV [CHAR (4)]

WAEEK [CUKY (5)]

WAELA [CUKY (5)]

VABGM [UNIT (3)]

MEBPR [UNIT (3)]

KLAH

MANDT [CLNT (3)]

CLINT [NUMC (10)]

 FRE_WALE_STY-CLINT = KLAH-CLINT 

0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 FRE_WALE_STY-KUNNR = KNA1-KUNNR 

0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 FRE_WALE_STY-EXTLI = LFA1-LIFNR 

0..N

0..N

 FRE_WALE_STY-LIFNR = LFA1-LIFNR 0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 FRE_WALE_STY-ARTNR = MARA-MATNR 
0..N

1

T000

MANDT [CLNT (3)]

 FRE_WALE_STY-MANDT = T000-MANDT 

0..N

1
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 FRE_WALE_STY-VZWRK = T001W-WERKS 

1..N

{0,1}
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 FRE_WALE_STY-MEBME = T006-MSEHI 

0..N

1
 FRE_WALE_STY-MEBPR = T006-MSEHI 

0..N

1
 FRE_WALE_STY-VABGM = T006-MSEHI 0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]

 FRE_WALE_STY-EKGRP = T024-EKGRP 
1..N

{0,1} T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 FRE_WALE_STY-EKORG = T024E-EKORG 
0..N

1  FRE_WALE_STY-VZEKO = T024E-EKORG 
1..N{0,1}

T626

MANDT [CLNT (3)]

AAVIT [CHAR (4)]

 FRE_WALE_STY-BEKTB = T626-AAVIT 

0..N

0..N

 FRE_WALE_STY-BEKTV = T626-AAVIT 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 FRE_WALE_STY-WAEEK = TCURC-WAERS 

0..N

1

 FRE_WALE_STY-WAELA = TCURC-WAERS 

0..N

1

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 FRE_WALE_STY-SPART = TSPA-SPART 

1..N

{0,1}

 FRE_WALE_STY-VZSPA = TSPA-SPART 

1..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 FRE_WALE_STY-VKORG = TVKO-VKORG 

0..N

1

 FRE_WALE_STY-VZVKO = TVKO-VKORG 

1..N

{0,1}

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 FRE_WALE_STY-VTWEG = TVTW-VTWEG 

0..N

1

 FRE_WALE_STY-VZVTW = TVTW-VTWEG 

1..N

{0,1}

TWAT

MANDT [CLNT (3)]

AKTHE [CHAR (4)]

 FRE_WALE_STY-AKTHE = TWAT-AKTHE 

0..N

1

WAKH

MANDT [CLNT (3)]

AKTNR [CHAR (10)]

 FRE_WALE_STY-AKTNR = WAKH-AKTNR 

0..N

1


